unit Unit1: |
interface

uses

Windows, Messages, SvsUtils, Variants,

Dialogs, Grids, stdctrls:

type

TForml = class (TForm)
Labell: TLsbel:
edtlbreEg: TEditc;
btnMatchs: TButton;
1k 1Matchs: TLabel:
sgMatchs: T3tringGrid;
btn3tart: TButton:
btnWinner: TButton:
1h1lWinner: TLabel:
btnFinal: TButton:
sgTfinal: T3tringGrid:

Classes, Graphics,

procedure btnMatchsClick(Sender: Tobject):
procedure btnltartClicki3ender: TObhject) !
procedure btnFinalClicki3ender: TObhject) !
procedure btnWinnerClick (Sender: Tobject):

private
{ Private declarations }
public
{ Public declarations |}
end:
rar

Forwl: TForml;

implementation

{3R #.dfm)

procedure IniMatchs (table: Titringgrid:
var i, j: integer:
begin
table.ColCount:=n+1:
table,.RowCount:=n+1:
table.Cells[0,0] :='matchs';
for i:=1 to n do
begin
table.ColWidths[i] :=40;
table.Cells[i,0] :=inttostr (i) ;
takble.Cells[0,1i] i=inttoste (i) + '
end;
for i:=1 to n do
for j:= 1 to n do

table.Cells[i, jl:='':
for i:=1 to n do
for j:= i to n do

table.Cella[i, jl:='S/7/7":
end;

n: integer):

contre! ;

controls,

Form=,



procedure IniTfinal( table: Tatringgrid: n: integer) :
var 1i,j: integer:
bhegin

table.ColWidths[2] :=115;

table.RowCount :=n+1:;

for i:=1 to 2 do

for j:=1 to n do
table.Cells[i,j]:='0';

table.Cell=s[0,0] :="'quipes';

table.Cells[1,0] :='points';

table.Cells[2,0] :='buts marcqu s';

for i:=1 to n do table.Cells[0,1i] :=inttostr(i):
end;

procedure analyze (tsblel, tablel: Tstringgrid; n: integer):;
var i, J: integer;
begin
for j:=1 to n do
for i:=1 to n do
if (Takblel.Cells[i,3]1[1]1='5') then
TableE.Cell=s[1,]] :=inttostr (strtoint (TableB.Cell=s[1,3])+3)
else if (Tablel.Cells[i,j][3]='5') then
TabhleB.Cells[1l,1] :=inttostr(strtoint (TabhleB.Cells[1,1])1+43)
for j:=1 to n do
for i:=j+1 to n do
bhegin
TableB.Cells[2,]] :=inttostr (strtoint (TableB.Cells[2, 3]+
strtointitablel.Cells[i,3][1])):
TableB.Cells[Z,1] :=inttostr(strtoint (TableB.Cells[2,1] )+
strtointitablel.Cells[i,31[3])):
end;
end;

procedure TForml.btnMatchsClick(3ender: TOhject) !
rvar n: integer:
begin
n:=strtoint (edtlNbreEdg.Text)
lbhlMatchs.Caption:=inttostrin¥(n-1) div 2):
end;
procedure TForml.btnMatchsClick (Sender: Tobject):
rvar n: integer:
begin
n:=strtoint (edtNhreEg. Text)
lhlMatchs.Caption:=inttostr (n*(n-1) div 2);
end;

procedure TForml.btnitartClick(Zender: Tobhject):
var n: integer:
begin
n:=strtoint (edtNhreEg. Text)
IniMatchs (sgMatchs, n):
IniTfinal(sgTfinal,n):
end;



procedure TForml.btnFinalClick(Sender: Tohject):
var n: integer:
begin
n:=strtoint (edtNhreEqg. Text);
analyze (sgMatchs, sgTfinal, n):
end;

procedure TForml.btnWinnercClick (Zender: Tobject):
var winner, i, n, max: integer:

begin
n:=strtoint (edtNhreEqg. Text);
max:=0;

for i:=1 to n do
if (strtoint (sgTfinal.Cells[1l, i]1>mwax) then
begin
max:=strtoint (sgTfinal.Cell=[1, i]):
winner:=1i;
end;
for i:=1 to n do
if (strtoint (sgTfinal.Cells[1l, 1i])1= strtoint(sgTfinal.Cells[1l, winher]))
and (strtoint(sgTfinal.Cells[2, 1i]) > strtointisgTfinal.Cell=s[Z, winher]))
then winner:=i;
lblWinner.Caption:='Le wvaincqueur est 1l''guipe ' + inttostr(winner):;
end;

end.



